
  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Commerce/Computer Application 

First Year 

BUSINESS ORGANIZATION 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 

100 words. 

All questions carry equal marks. 

1. Write the Concept of Business. 

 ÁoPzvß P¸zx £ØÔ GÊxP. 

2. What is Public Companies? 

 ö£õx P®ö£Û GßÓõÀ GßÚ? 

3. What is Underwriting of Shares? 

 J¨¦Öv £[SPÒ GßÓõÀ GßÚ? 
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4. Write about Bonus Shares. 

 ÷£õÚì £[SPÒ £ØÔ GÊxP. 

5. What is Scale of Operation? 

 ö\¯À£õmiß AÍÄ GßÓõÀ GßÚ? 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Describes the importance of Branches of Business. 

 ÁoP QøÍPÎß •UQ¯zxÁ® £ØÔ GÊxP. 

7. Discuss the features of Articles of Association. 

 \[P PmkøμPÎß A®\[PÒ £ØÔ ÂÁõv. 

8. What are the merits of Debentures? 

 PhÜmk £zvμzvß |ßø©PÒ ¯õøÁ? 

9. Explain the Powers of Directors. 

 C¯US|ºPÎß AvPõμ® £ØÔ ÂÁ›. 

10. Write the elements of Business Combinations. 

 ÁoP ÷\ºUøP°ß TÖPÒ £ØÔ GÊxP. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Explain the functions of Sole proprietary 

Concerns. 

 uÛ²›ø© £oPøÍ ÂÁ›. 

12. Difference between Company and Partnership 

firms. 

 P®ö£ÛUS® ©ØÖ® Tmhõsø© {ÖÁÚzvØS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

13. Explain the implications of Misstatement in 

Prospectus. 

 ¨μõìö£UhêÀ uÁÓõÚ AÔUøP°ß uõUP[PÒ 

£ØÔ ÂÁ›. 

14. Explain the Resolutions in shareholders meetings. 

 £[SuõμºPÒ TmhzvÀ wº©õÚ[PÒ £ØÔ ÂÁ›. 

15. Write the types of Business Combination. 

 ÁoP ÷\ºUøP°ß ÁøPPøÍ GÊxP. 
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16. Explain the legal aspects of finance. 

 {v°ß \mh A®\[PÒ ÂÁ›. 

17. Explain the privileges of a private company over a 
public company. 

 J¸ ö£õx {ÖÁÚzøu Âh J¸ uÛ¯õº 
{ÖÁÚzvß \¾øPPÒ ÂÁ›. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION –  
DECEMBER 2023. 

Commerce / Computer Application 

First Year 

FINANCIAL ACCOUNTING 

Time : 3 hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 
Answer any THREE questions out of Five questions  

in 100 words. 
All questions carry equal marks 

1. What is the accounting process?  
 PnUQ¯À ö\¯À•øÓ GßÚ? 

2. What is a non-trading organisation?  
 ÁºzuP ÷|õUP® AÀ»õu {ÖÁÚ® GßÓõÀ GßÚ? 

3. What is the conversion method? 
 ©õØÖ® •øÓ GßÓõÀ GßÚ? 

4. Give a note on consignment stock. 
 \μUS (|P¸®) £ØÔ¯ SÔ¨¦ u¸P. 

5. How do you maintain a branch account? 
 QøÍU PnUøP }º GÆÁõÖ £μõ©›¨£õ´? 

 UG-C-2232 BCO-12X
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SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words 

All questions carry equal marks. 

6. Give a note on Objective evidence concept. 

 Buõμ® \õº¢u ÷|õUP® £ØÔ SÔ¨¦ u¸P. 

7. Calculate subscription income for the year 2008 
from the following details: 

 Subscription received during 2008 was Rs.24,000. 
It includes subscription for 2007 Rs.2,000 and 
2009 Rs.4,000. 

 Subscription to be received for 2008 but unpaid 
was Rs. 10,000 

 Subscription received in advance in 2007 for 2008 
was Rs.6,000.  

 2008 B® BsiØPõÚ \¢uõ Á¸©õÚzøu 
¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PnUQhÄ® : 

 2008 CÀ ö£Ó¨£mh \¢uõ ¹.24,000. CvÀ 2007 
¹.2,000 ©ØÖ® 2009 ¹.4,000 UPõ \¢uõ Ah[S®. 

 2008 B® BskUPõÚ \¢uõ ö£Ó¨£mhx BÚõÀ 
ö\¾zu¨£hõ©À C¸¢ux ¹.10,000. 

 2008 B® BsiØPõÚ •ß£n©õP 2007 CÀ 
ö£Ó¨£mh \¢uõ ¹.6,000 BS®. 
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8. Calculate the missing information from the 
following 

 Profit made during the year Rs.4,800 
 Capital at the end 
 Additional capital introduced during the year 

Rs.4,000 
 Drawings Rs.2,400 
 Capital in the beginning Rs.9,600. 
 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Âk£mh uPÁø»U 

PnUQhÄ®. 

 Bsk C»õ£® ¹.4,800 
 CÖv •uÀ 
 TkuÀ •uÀ ¹.4,000 
 Gk¨¦PÒ ¹.2,400 
 öuõhUP •uÀ ¹.9,600 

9. State the methods for calculating interest in 
Account current. 

 |h¨¦U PnUS Ámiø¯ PnUQkÁuØPõÚ 
•øÓPøÍU SÔ¨¤kP. 

10. The Bright Ltd. opened a branch on 1-1-96 at 
Calcutta. The following information is supplied to 
you. Prepare Branch A/c. 
 Rs.

Goods sent to branch 50,000

Sales: cash Rs.20,000 and Credit 
Rs.36,000 56,000
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 Rs.

Cash received from debtors 32,000

Discount allowed to them   600

Cash sent to branch for expenses  7,000

Stock on 31-12-96  8,000

Debtors on 31-12-96 3,400

 ¤øμm ¼ªöhm 1.1.96 AßÖ PÀPzuõÂÀ J¸ 
QøÍø¯z vÓ¢ux. ¤ßÁ¸® uPÁÀPÒ E[PÐUS 
ÁÇ[P¨£kQßÓÚ. QøÍU PnUøPz u¯õº ö\´P. 

 ¹.

QøÍUS AÝ¨£¨£mh \μUSPÎß 
©v¨¦ 50,000

ÂØ£øÚ. (öμõUP® ¹.20,000 ©ØÖ® 

Phß ¹.36,000) 56,000

PhÚõÎPÎhª¸¢x ö£Ó¨£mh 

öμõUP® 32,000

uÒÐ£i ÁÇ[P¨£mhx   600

ö\»ÄPÐUPõP QøÍUS öμõUP® 
AÝ¨£¨£mhx  7,000

31.12.96 AßÖ \μUQ¸¨¦  8,000

31.12.96 AßÖ PhÚõÎPÒ 3,400



 UG-C-2232 5

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Identify the errors in the following Trial Balance 
and prepare a correct Trial Balance. 

Debit Balances Amount Credit Balances Amount

Opening stock 10,000 HDFC Loan 15,000

Purchases 49,000 Sundry Debtors 42,000

Wages 15,000 Capital 50,000

Rent, Rates and 
Taxes 

 
1,000 

Provision for 
Bad debts 2,800

Salaries 8,000 Sates Returns 2,000

General Expenses 900 Discount 
allowed 500

Plant and 
Machinery 

 
15,000 

  

Sundry Creditors 20,000   

Furniture and 
Fitting 

 
8,000 

  

Cash 5,000   

Sales 1,28,600   

Land and 
Buildings 

 
60,000 

  

  3,20,500   1,12,300
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 ¤ßÁ¸® C¸¨£õ´ÂÀ EÒÍ ¤øÇPøÍU 
PshÔ¢x \›¯õÚ C¸¨£õ´øÁz u¯õ›UPÄ®. 

£ØÖ ¹. ÁμÄ ¹.

öuõhUP \μUQ¸¨¦ 10,000 HDFC Phß 15,000
öPõÒ•uÀPÒ 49,000 £Ø£» 

PhÚõÎPÒ 42,000
T¼ 15,000 •uÀ 50,000
ÁõhøP ©ØÖ® 
Á›PÒ 

 
1,000 

ÁõμõU Phß 
JxUSP 2,800

\®£Í® 8,000 ÂØ£øÚ 
v¸¨£® 2,000

ö£õxÁõÚ 
ö\»ÄPÒ 

 
900 

uÒÐ£i 500

Bø» ©ØÖ® 
C¯¢vμ® 

 
15,000 

  

£Ø£» PhÜ¢÷uõº 20,000   
AøÓUP»ßPÒ 8,000   
öμõUP® 5,000   
ÂØ£øÚ 1,28,600   
{»® ©ØÖ® 
Pmih® 

 
60,000 

  

  3,20,500   1,12,300

12. Distinguish between Receipts and Payments 
account and Income and Expenditure account.  

 ö£ÖuÀPÒPÒ ©ØÖ® ö\¾zxuÀPÒ PnUS ©ØÖ® 
Á¸Áõ´ ©ØÖ® ö\»ÂÚU PnUS BQ¯ÁØøÓ 
÷ÁÖ£kzx[PÒ. 
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13. A merchant has commenced business with a 
capital of Rs.10,200 on 1.1.2009. On 1.5.2009, he  
invested an additional capital of Rs.4,250. He 
withdrew Rs.1,700 for his personal purpose. The 
assets and liabilities on 31.2.2009 are: 

  Rs.

Creditors 4,250

Furniture 1,700

Stock 13,600

Debtors 3,400

Cash in hand 2,550

 Prepare a statement showing profit or loss for the 
year 2009. 

 J¸ ÁoPº 1.1.2009 AßÖ ¹.10,200 •u¾hß 
ÁoPzøuz öuõh[Q²ÒÍõº. 1.5.2009 AßÖ 
TkuÀ •u»õP ¹.4,250 •u½k ö\´uõº. AÁº 
uÚx uÛ¨£mh ÷|õUPzvØPõP ¹.1,700 öμõUP® 
Gkzuõº. 31.2.2009 AßÖ ö\õzxUPÒ ©ØÖ® 
ö£õÖ¨¦PÒ ¤ßÁ¸©õÖ. 

  ¹.

PhÜ¢÷uõº 4,250
AøÓP»ß 1,700
\μUS 13,600
PhÚõÎPÒ 3,400
öμõUP øP°¸¨¦ 2,550

 2009 B® BsiØPõÚ C»õ£® AÀ»x |mhzøu 
Põmk® {ø» AÔUøPø¯z u¯õ›UPÄ®.  
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14. Mr. Yadhav has four different bills with Mr. 
Narayan on different dates. He wishes to settle in 
a single payment, in lieu of the four bills. Compute 
Average Due Date for him. 

Date of bill Amount (Rs.)
30.04.2009 2,500
01.08.2009 5,000
31.10.2009 10,000
01.12.2009 2,500

 v¸. ¯õuÆ öÁÆ÷ÁÖ ÷uvPÎÀ v¸. 
|õμõ¯nÛh® |õßS öÁÆ÷ÁÖ ¤ÀPøÍ 
øÁzxÒÍõº. |õßS ¤ÀPÐUS¨ £v»õP J÷μ 
÷|μzvÀ ö\miÀ ö\´¯ Â¸®¦QÓõº. AÁ¸UPõÚ 
\μõ\› ÷uvø¯U PnUQk[PÒ. 

¤À ÷uv öuõøP (¹.)

30.04.2009 2,500
01.08.2009 5,000
31.10.2009 10,000
01.12.2009 2,500

15. The directors of departmental stores Ltd. wish to 
ascertain approximately the net profit of X, Y and 
Z departments separately for the quarter ended 
31-03-2001. It is found impracticable actually to 
take stock on that date but an adequate system of 
departmental accounts is in the use and the 
normal rates of gross profit for the departments 
concerned are 40%, 30% and 20% on turnover 
respectively. Indirect expenses are charged in 
proportion to departmental turnover. 
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Particulars X 
Rs. 

Y 
Rs. 

Z 
Rs. 

Stock as on 1-1-2001 30,000 35,000 15,000
Purchase to March 31st 2001 35,000 37,500 23,500
Sales to March 31st 2001 60,000 50,000 30,000
Direct expenses 10,100 7,250 3,550

 The indirect expenses for the period  
(including those relating to other departments) 
were Rs.21,000 on total sales of Rs.4,20,000 
Prepare accounts showing gross profit, net profit 
after making provision for stock at 10% in respect 
of each department. 

 xøÓ\õº {ÖÁÚ C¯US|ºPÒ, 31.03.2001 Ehß 
•iÁøh¢u Põ»õsiÀ X, Y and Z xøÓPÎß 
÷uõμõ¯©õÚ {Pμ, »õ£zøu uÛzuÛ¯õPU 
PshÔ¯ Â¸®¦QÓõºPÒ. A¢uz ÷uv°À 
\μUSPøÍ GkzxUöPõÒÁx |øh•øÓUS 
\õzv¯©ØÓuõPU Põn¨£mhx, BÚõÀ xøÓ\õº 
PnUSPÎß ÷£õx©õÚ Aø©¨¦ £¯ß£õmiÀ 
EÒÍx ©ØÖ® \®£¢u¨£mh xøÓPÎß ö©õzu, 
»õ£zvß \õuõμn ÂQu[PÒ •øÓ÷¯ 40%, 30% 
©ØÖ® 20% ÂØ£øÚ BS®, xøÓ\õº ÂØ£øÚ 
ÂQuzvÀ ©øÓ•P ö\»ÄPÒ Á`¼UP¨£kQßÓÚ. 
ÂÁμ[PÒ X 

¹. 
Y 
¹. 

Z 
¹. 

1.1.2001 AßÖ \μUS 30,000 35,000 15,000
©õºa 31, 2001 AßÖ 
öPõÒ•uÀ 

 
35,000 37,500 23,500

©õºa 31, 2001 AßÖ 
ÂØ£øÚ 

 
60,000 50,000 30,000

÷|μi ö\»ÄPÒ 10,100 7,250 3,550
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 ö©õzu ÂØ£øÚ¯õÚ ¹.4,20,000 «x A¢uU 
Põ»zvØPõÚ ©øÓ•P ö\»ÄPÒ (¤Ó xøÓPÒ 
öuõhº£õÚøÁ Em£h) ¹.21,000 BS®. JÆöÁõ¸ 
xøÓø¯²® ö£õÖzu©miÀ 10% \μUSUS JxURk 
ö\´u ¤ÓS ö©õzu, »õ£®, {Pμ, »õ£® 
BQ¯ÁØøÓU Põmk® PnUSPøÍz u¯õº ö\´P. 

16. The under mentioned are the balances of  
Mr. Raguram, prepare a Trading, Profit and Loss 
Account and a Balance Sheet as on 31.12.2009. 

Particulars Amount Particulars Amount

Machinery 18,000 Stock (1.1.09) 69,000

Furniture 6,000 Capital 1,27,860

Cash in hand 34,800 Sundry 
Creditors 25,200

Sundry Expenses 3,000 Sales 3,60,000

Repairs 1,260 Salaries 24,000

Mortgage Loan 
(Cr.) 

 
36,600 

Trade 
Expenses 6,000

Purchases 1,92,000 Carriage 3,300

Discount (Dr.) 15,600 Rent and Rates 6,000

Wages 78,000 Building 48,000

Insurance 1,800 Sundry 
Debtors 39,000

Commission 3,900  
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 Adjustments: 

 (a) Stock on 31.12.09 Rs.72,900. 

 (b) Depreciation on Machinery @ 5%, Furniture 
@ 7.5% and Building 2.5% pa. 

 (c) Bad debts written off Rs. 1,800. 

 (d) Liability for insurance Rs.240. 

 (e) Provide discount on Debtors and Creditors at 
2.5% 

 (f) Make a provision for rent and rates 
unexpired Rs.360. 

 R÷Ç SÔ¨¤h¨£mkÒÍøÁ v¸. μSμõªß 
{¾øÁPÒ, 31.12.2009 AßÖ Â¯õ£õμ, C»õ£® 
©ØÖ® |mhU PnUS ©ØÖ® C¸¨¦{ø»U 
SÔ¨ø£z u¯õº ö\´P. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

C¯¢vμ® 18,000 \μUS (1.1.09) 69,000

AøÓP»ß 6,000 •uÀ 1,27,860

öμõUP® 
øP°¸¨¦  

 
34,800 

£Ø£» 
PhÜ¢÷uõº 25,200

Cuμ/£Ø£» 
ö\»ÄPÒ 

 
3,000 

ÂØ£øÚ 3,60,000

£Êx £õº¨¦ 
ö\»ÄPÒ 

 
1,260 

\®£Í® 24,000

Ah©õÚU Phß 
(ÁμÄ) 

 
36,600 

Â¯õ£õμ 
ö\»ÄPÒ 6,000

öPõÒ•uÀPÒ 1,92,000 yUS T¼ 3,300
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ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

uÒÐ£i (£ØÖ) 15,600 ÁõhøP ©ØÖ® 
Á›PÒ 6,000

T¼ 78,000 Pmih® 48,000

Põ¨¥k 1,800 £Ø£» 
PhÚõÎPÒ 39,000

uμS 3,900  

 \›PmkuÀP: 

 (A) 31.12.09 AßÖ \μUS ¹.72,900. 

 (B) C¯¢vμ[PÎß ÷u´©õÚ® @ 5%, AøÓP»ß  
@ 7.5% ©ØÖ® Pmih® 2.5% 

 (C) ÁõμõU PhßPÒ ¹.1,800 }USP. 

 (D) Põ¨¥mkUPõÚ ö£õÖ¨¦PÒ ¹.240. 

 (E) PhÚõÎPÒ ©ØÖ® PhÚõÎPÐUS 2.5% 
uÒÐ£i ÁÇ[PÄ®. 

 (F) ÁõhøP ©ØÖ® Á›PÒ Põ»õÁv¯õPõu 
ÁøP°À ¹.360 US HØ£õk ö\´P. 

17. Explain the steps involved in calculation of fire 
insurance claims. 

 w Põ¨¥k ÷Põ›UøPPøÍ PnUQkÁvÀ EÒÍ 
£iPøÍ ÂÍUSP. 

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION -  
DECEMBER, 2023 

Commerce/Accounting and Finance  

First Year 

BUSINESS ECONOMICS 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 
Answer any THREE questions 

1. State the Adam Smith’s definition of Economics. 

 ö£õ¸Íõuõμzvß Bh® ìªzvß Áøμ¯øÓø¯ 
TÖ[PÒ. 

2. Explain the term Utility. 

 £¯ß£õk GßÓ Áõºzøuø¯ ÂÍUS? 

3. What is Cross Elasticity of demand? 

 ÷uøÁ°ß SÖUS ö|QÌa] GßÓõÀ GßÚ? 

4. What is an Indifference curve? 

 \©÷|õUS ÁøÍÄ GßÓõÀ GßÚ? 

5. What are the factors of Production? 

 EØ£zv PõμoPÒ GßÓõÀ GßÚ? 

 UG-C-2233 BCO-13X/
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SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions 

6. Bring out the scope of Economic. 

 ö£õ¸Íõuõμzvß ÷|õUPzøu öÁÎ¨£kzx[PÒ. 

7. Differentiate between Cardinal and Ordinal 
Method of utility analysis. 

 £¯ß£õmk £S¨£õ´Âß PõºiÚÀ ©ØÖ® BºiÚÀ 
•øÓø¯ ÷ÁÖ£kzx[PÒ. 

8. What are the factors influencing elasticity of 
demand? 

 ÷uøÁ°ß ö|QÌa]ø¯ £õvUS® PõμoPÒ GßÚ? 

9. Explain the importance and significance of the 
concept consumer surplus. 

 ~Pº÷Áõº E£› GßÓ P¸zvß •UQ¯zxÁzøu²® 
ÂÍUSP. 

10. Write short notes on 

(a) Perfect competition 

 (b) Pure competition 

 ]Ö SÔ¨¦ GÊx. 

 (A) \›¯õÚ ÷£õmi 

 (B) y¯ ÷£õmi. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions 

11. Describe the role of Advertising in Business. 

 ÁoPzvÀ ÂÍ®£μzvß £[øP ÂÁ›. 

12. Illustrate how is Price discrimination done by a 
Monopolist? 

 HP÷£õPÁõv¯õÀ Âø» £õS£õk GÆÁõÖ 
ö\´¯¨£kQÓx Gß£øu ÂÍUPÄ®? 

13. Explain the different methods of Computing 
National Income. 

 ÷u]¯ Á¸©õÚzøu PnUQh £À÷ÁÖ •øÓPÒ 
ÂÁ›. 

14. Analyse the different Pricing Methods in public 
utilities. 

 ö£õx £¯ß£õkPÎß öÁÆ÷ÁÖ Âø» •øÓPøÍ 
£S¨£õ´Ä ö\´¯Ä®. 

15. Describe Price-output determination under 
Duopoly. 

 C¸©h[Qß RÌ Âø» öÁÎ±mk wº©õÚzøu 
ÂÁ›. 
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16. Analyse the features of Monopolistic competition. 

 HP÷£õP¨ ÷£õmi°ß A®\[PøÍ £S¨£õ´Ä 
ö\´. 

17. Explain the factors determine the size of the 
market. 

 \¢øu°ß AÍøÁ wº©õÛUS® PõμoPøÍ ÂÁ›. 

–––––––––– 


